31.3.20 Tuesday place value year b

Add 1000 to each number. The first one has been done for you. Top tip: only the 1000s column changes!
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1. 2398 + 1000 = 3398 16. 11756 + 1000 =
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2. 4829 + 1000 = 17. 14947 + 1000 =
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3. 8023 + 1000 = 18. 25902 + 1000 =
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4. 3820 + 1000 = 19. 49023 + 1000 =
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5. 7822 + 1000 = 20. 100 456 + 1000 =
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6. 3419 + 1000 = 21. 134982 + 1000 =
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7. 6729 + 1000 = 22. 249 305 + 1000 =
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8. 5547 + 1000 = 23. 56 983 + 1000 =
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9. 1009 + 1000 = 24. 701 034 + 1000 =
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10. 345 + 1000 = 25. 38382 + 1000 =
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11. 8563 + 1000 = 26. 563 902 + 1000 =
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12. 9017 + 1000 27. 79826 + 1000 =
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13. 6730 + 1000 = 28. 399 027 + 1000 =
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14. 1193 + 1000 = 29. 50231 + 1000 =
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15. 4508 + 1000 = 30. 999 000 + 1000 =
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Challenge
Can you add 1001, 1010 or 1100 to some of the questions? What about 10 0007



